
25.11.24
LO: TO find fractions equivalent to a unit fraction

To understand that a fraction is part of a whole

 
To know that different fractions can represent the same 
amount

To know that we need to multiply the numerator and 
denominator to equivalents 





1)

2)   8 × 3 = __                  __ × 8 = 96  

      8 × __ = 48                8 × __ = 64

What fractions are represented?

0 1



1)

2)   8 × 3 = __                  __ × 8 = 96  

      8 × __ = 48                8 × __ = 64

What fractions are represented?

0 1

1

4
 

1

3
 1

5
 

24 12

6 8





Dora and Dexter each have a strip of paper. 

DexterDora

They each fold their paper in half.

Dexter then folds his in half again. 



Have a think

DexterDora

What fractions can you see on their strips of 
paper?

1

2

1

2

1

4

1

4

1

4

1

4

What do you notice?

1

2
 is equivalent to 

2

4
 

1

2

1

2

1

4

1

4

1

4

1

4



Have a think

DexterDora

1

2

1

2

Dexter folds his paper in half again. 

1

2
 is equivalent to 

4

8
 

1

8
 
1

8
 
1

8
 
1

8
 
1

8
 
1

8
 
1

8
 
1

8
 

Now what do you notice?

1

2

1

2

1

8
 
1

8
 
1

8
 
1

8
 
1

8
 
1

8
 
1

8
 
1

8
 



Have a think

What equivalent fractions can you see from these 
strips of paper?

1

3
 =

2

6
 

1

4
 =

2

8
 

1

5
 =

3

15
   



You can also show equivalent 
fractions on a number line.

0 1 

0 1 

1

3
 

2

3
 

1

6
 

2

6
 

3

6
 

4

6
 

5

6
 

I can see that 
1

3
 is equivalent to 

2

6



1

4
 =

3

12
  

× 3

I notice that with equivalent fractions, 
you multiply the numerator and the 
denominator by the same amount.   

× 3



1

5
 =

4
  

× 4

The numerator has been multiplied by ___, so if 
the denominator is multiplied by ___, then the 

fractions will be equivalent. 

× 4

Have a think

4

4

20



1

4
 =

3

12
  × 4

I notice two fractions are equivalent if 
both numerators multiply by the same 

number to make the denominators. 

× 4



The denominator is ___ times the numerator in 
both fractions, so the fractions are _________ .

5
equivalent

1

5

5

25
  × 5× 5 =



1

6
  =

3

18
  =

2

12
  

Are the fractions equivalent?

× 3

× 6

× 3

× 6



1

2
  =

4
  =

10
  

What are the missing numbers?

8

× 4

÷ 2

× 4

÷ 2
5

Have a think



Have a go at the questions 
on your worksheet
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